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AMEH (1) with, (2) without
MEF2 (A) to stay, (B) eating
ME3 During
ME4a That was a great way to capture all the special moments.
MES It was just amazing to see the ring of huge stones.
ME6 He wandered off at night so often that someone had to keep an eye on him.
ME7 There were many things that Kenneth had to do.
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MEHM (It is because) The tomatoes did not get enough sunlight.
MER2 characteristic
ME3 He ate a basket of tomatoes in front of many people watching him.
MEta 1) ©painting 2) painted 3) @danced 4) dancing
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MES 1) | wonder what's for lunch (today). ==& 2) | wonder why the Earth is round.




